= NAY— N N AN p S—FAT =D Ll
H27E7A P aEDRFEEDER & BT ?ﬁ%ngiggm B?é‘rlTFFZATXGggéS 34]2'5888

O7AhANREBDOKE X7A24BRADEHEKEE22.7°C [ Y10k 3
-HBE KR (X21.6~23.5°C SEEKERIZFEERKLYIEL23.3°C,

- /KZR100 mELR DM R DBEKEIEX14.7~20.7°C

- K185 mit A D FEE100 mDKiR(£15.4°C (FF) L14.8°C(RER) RAAROER(7ER7 LD,

- 7K ZE185 mith A DB EKRI6.2°C (FE) &£7.4°C(RER) FEFRIALRIKEDO.31pglL,
| =% N (%) (HREE)
.aﬁﬁtlﬁg?ﬂ?’ﬁ'f&(1—%)7]{'30)'%'_5%*5 35°50’© ® 35°40’ o o 3(%’30’N 35°50’ © " ® 35°30°N
e - - 0 _ 0* 7@
seN | 50 - L s0- .
E £
B 100 - FREME [ B 100 - B
® -150 - b -150 7 B
35°30° -
-200 -200
133° 134°E
BI1)H2747 A 21 A DEBENE R (£) . RS () . RIEBMSE ()1 H - [T TTT.
B3 KEBEDREL . 345678 9 101112131415161718192021 2223 (°C)

OEESHENEEKED AL O 5 R 5 it DETEE (SO0TL
RES % RER TRRZOLaR) o KRIHEERMD26.0°CE A

R 224-00- - 23.3°CLE< - TVET,
G T e -HO074)LaB [EHEEFMD0.05pg/LIS
o j: § ?ZZ | oamat | X H~0.31pg/LEB > TVET
o Lmse] W goioo W X200/ )VaDEISEMTS I DES
456 78 9101112 1 2 3 ) 4567891011121 2 3 RLTEY.EHELBENTSU TP OEHZN
2) Eﬁéi&ionkgﬁﬁs)o mit & (@)= ®3) Egsmﬁomgﬁg;mﬁ@m;@: SETRANMBORERNRCEAEHEILNET .,

B+5HmKEDAEE. Bl+d /0074 aBEOEYED AL L.




“RIMISEDNTTF, HVIZEB 00D, BYICEEITHEMNER,

AR ORS -VAANIBIEFEDRBICLERBEEA S KALZRBINDRAH,

O EREHR &4 (7/14~7/20) MEEDRER (7/21~7/28) REEDSH (8/18~8/25)

sk I 7K $& 1\ P -t £ d R ki R -t 5 R
(1 8&H=Y) (1 B¥&H7=Y) (1 8¥%h=Y) (1 Bdmpf=Y) (1 B8&Hf=Y) 1 B»pf=Y)
ol #8 FoE 38 O 5 5 Wil £ 1~2%4 5~10% 2~3%
B, 3FE 1M oFs 2~5%8 1~2%
Eng 1 e IL 5~20%5 2% 3~30%F5 2~3% 5~20%5 1~2%
# k= [k 25~60% 1~7% 10~80% 1~3%
IR @ 20~30%8 1M oFH 15~40%8 2~3%
E-] 5~10%5 1~28 *x14~16H®3EM &£ LNBF2055 1~2% 10~4058 2~3%
SE R 2558 3% 10~30%5 2~3% 10~15% 1~2%
nes PEIT 5~50%8 2~3% 10~160%8 2 M Wir e oOFs
it i = 109~1673F 2~10% 16 ~305%8 3~7% 7~30% 3~4%
Bl 40~50%5 3% oFE O 55
p-] 10~30458 3~4% *14~16HM3HAM 100~200F5 4~58 5~15%8 2~3%
585 200~300%5 2% 100~500% 3% *6~8FKAUE&F 20~80%FE 2% *x6FAUEMH
eSSy 10 Sk = o5 2~1958 2~7% 2~20%5 3%
I i O %5 3~5%8 2~3% (-]
38 [ F: 5~15% 4~54 oFE
hT= PEIT 10~40%5 3~a4m 20~30% 10~50%8 5—6M
38 oF 1~2%5 1~28 oFs
R 5T 10~405 2~3W 5~10%5 54 O F5
oF ST LE: 2~10%8 2% oOFs
ES =] Okg Okg 5~10kg 1
G gL 30~ 300ksg 5 ~8% 100~300kg 8~10%E o kg
10 i = 24~448ks 1~118% 112~279kg 7~11% 48 ~364ks 9~11%
L] A4S or F@ [k (k-] 10~20%8 1% * 3 AU
H=T R 3B 2 ~35 1~2% *14~16H®M3IEAM oFs 10~ 20ks 1~28
3 R 35 1% *1H®DH Okg Okg
BTN S s oFE o 40~70% 2%
32 % #8 Fom JeIT 85~230%5 1 %0 & oFs oOFs
1 3 = 258 148 = 558 1#HE& *28H DH oFS
YU -y T 10~40%5 1#E S oFE [k
1 s 2 oFs 11 ~25% 1#8 & OFE
= FeIT 3~5%5 140 = oFs o5
RX 0 S = (k-] 1255 1/ & *28H DH (o]
AT # si == 123 188& * 90ks o=x oFx
caah s = 13#% 1% & o# 0 #X
T A o B 10~20%5 2~3%4 oFE oF5
8y ESAGER) 38 oFE oFs 2 ~3ke 2~3%
caan PEIT 5~30%8 3~44 5~6%58 2~3% [k 1
1 Sk 3~9%y 1~4% oFs 4~55 1~2%8
S FilF 100~20058 22~23% 156~20% 14~158 *x2~33Z7T=x{&K 5~50%5 13~14% *2.5~353Z CT=x{&K
38 [k [k 1~358 2~3%%
5T s 5~6%8 2~3% 1~2%5 1% 5~9% 2~3%
oI P IL 10~50%5 5~38 %4 10~40%5 5~10% x84 ALXE{H 20~80%8 10~158 x4~5FAYE{E
160 3 o= OFS OFS 8~14% 2 ¥ @i i
P\ Ir FF [k 3~458 3~4M oOFs
35 OFS 2~4%8 1~28 oOFS
= =43 L 30~ 70ksg 2~345 oFs oFS
ey w4 PEST 50~200ks 8 & 30~200ks 84 *500~550F/ks O kg
I FF Okg Okg 20 ke Wi £ 2~3%
-] Okg 10 ~20kg 1~24 30~90ks 1~24
S O kg 10k BT & 1~2%5 10~ 20kg 1~2%5
FIE JEST 3~40keg 8 & 2~4ke 84 *150~200g/1& Okg
10 sk = 5.2 ~8kg 2~3% 3~11ke 1~34% 4~—85s 3~945
I B O kg 1 kg BT £ 14 O kg
30 LE 158 1~24 OFa
I e IT 4~2058 645 5~50%8 3~54 E:
0 i = EES 1~a4% 3~5%8 1~2% oF
I i 35 8 A *40~50# 20 FE BT & 5~645 40 ~50AUX{k, MY OFATie
s [ E: 125 AT 24 *# 20 AUE4{E, A MoK oFs
3= 20~25%8 5~6% *14~16HG®3HM 10~20% 4~5% oFs
& . 1455 44 6 ~ 7% 2~3%4 *60~80AYFE K 3~85 2~3%

FHh o= PEIT ok .4 15~30# * 1500/ # o




